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FER RS BEE.BARX—/—|B/A%X100 Fx MRS BEE. BARX—/—|B/AX%X100
EH A [BREFE| EH B [BEE EH A |BREE| E% B |[HBEE
S57 13,799 4.3 14| 7.7 0.101 S57| 42805| 86 2262 174 5.284
S60 13,076] -5.2 17| 214 0.130 S60| 42569 -06 2,402| 6.2 5.643
S63 13427 27 21| 235 0.156 S63|  49,160| 155 2,865 19.3 5.828
H3 12,106 -9.8 20 -48 0.165 H3 48171 -2.0 2,470| -13.8 5.128
H6 12,243 1.1 21 5.0 0.172 H6 52,287| 85 2,930| 186 5.604
H9 11,306 -7.7 19| -95 0.168 H9 51,459 -1.6 2,477| -155 4.814
H11 11,337 0.3 17| -105 0.150 H11 55964| 8.8 2487 04 4.444
H14 10,743 -5.2 11| -35.3 0.102 H14| 57113] 241 2418 -28 4.234
H16 9969 -7.2 10/ -9.1 0.100 H16| 53599| -6.2 2,115| -125 3.946
H19 9,028| -9.4 12| 20.0 0.133 H19| 51503] -39 2,127| 06 4130
H24 6,519| -27.8 11| -8.3 0.169 H24| 40218 -21.9 2,055| -3.4 5.110
H26 6,321 -3.0 6| -455 0.095 H26| 40954 1.8 1,105| -46.2 2.698
H28 6,592| 43 10| 66.7 0.152 H28| 45126| 102 1,528 38.3 3.386
FE I mIRTEE (B A, %) FE@EiE (B m, %)
ER TR BEE.wex——|B/Ax100| |&EX TR BEE. & X—/—|B./AX 100
EH A [BREE| R B |BEFE EH A | BEE| E% B |[HBEE

S57 612,379| 344 72,748| 43.1 11.9 S57| 785492 7.1 76,431 6.8 9.7
S60 669,103| 9.3 79,000 8.6 11.8 S60| 718013 -86 84,328 10.3 11.7
S63 799,928| 19.6 95578 21.0 11.9 S63| 777812 83 96,444 144 12.4
H3 968,718| 21.1 116,208 21.6 12.0 H3 | 877,489| 128 122,932 275 14.0
H6 1,009,372 4.2 120613 3.8 11.9 H6 | 948775 8.1 140,191 140 14.8
H9 1,004,941| -0.4 117,071 -2.9 11.6 H9 | 957,501 0.9 138482 -1.2 14.5
H11 987,275| -1.8 98,136| -16.2 9.9 H11] 1,037482| 8.4 139,555 0.8 135
H14 942.336| —4.6 81,361| —17.1 8.6 H14]1,136,229] 95 130,959| 6.2 11.5
H16 895,987| -4.9 74224 -8.8 8.3 H16| 1,175,005| 3.4 115541 -11.8 9.8
H19 873,456| -25 72,065 -2.9 8.3 H19] 1,143,325| -2.7 140574 21.7 12.3
H24 732,420| -16.1 50,483| —29.9 6.9 H24| 1,127939| -1.3 129,881 -7.6 115
H26 774,951 5.8 22,668 -55.1 2.9 H26| 1,090,749| -3.3 63,203] -51.3 5.8
H28 896,104 15.6 453881| 102.4 5.1 H28]| 1,047,915 -3.9 121,284 91.9 11.6
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FR NTREE BEE. BEX—/—|B /A X100 ER hEREH BEE.BREX—/—[B/AX100
EH A [BREE| EH B [BREE EH A [BREE| EH B |[EEZE

S57 3.1 4.1 161.6 9.1 52.1 S57 44 289 5,196 32.8 117.1
S60 3.3 4.9 141.3] -12.6 434 S60 51 15.3 4,647 -10.6 90.8
S63 3.7 12.5 136.4| -34 37.3 S63 60 16.4 4,551 -2.1 76.4
H3 4.0 8.7 123.5 -9.5 31.0 H3 80[ 343 5810 27.7 72.6
H6 4.3 7.3 139.5 13.0 32.7 H6 82 3.0 5743 -1.2 69.7

H9 4.6 6.6 130.4| -6.6 28.6 H9 89 7.8 6,162 7.3 69.3
H11 4.9 8.5 146.3 12.2 29.6 H11 87| -20 5773] -6.3 66.3
H14 5.3 1.7 219.8 50.3 41.3 H14 88 0.7 7,396 28.1 84.3
H16 5.4 1.1 2115 -3.8 39.3 H16 90 2.5 7,422 0.4 82.6
H19 5.7 6.1 177.3] -16.2 31.1 H19 97 1.6 6,005| -19.1 62.1
H24 6.2 8.1 186.8 5.4 30.3 H24 112 16.1 4,589| -23.6 40.8
H26 6.5 5.0 184.2 -14 284 H26 123 9.1 3,778| -17.7 30.8
H28 6.8 5.7 152.8] -17.0 22.3 H28 136 10.9 4,588 21.4 33.8
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